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100 Questions

Que. 1 Read the following sentence and determine whether there is any error in it. The error, if any, will
be in one part of the sentence. If the sentence is error-free, then select ‘No Error’ as your answer.

Despite of the rain, the parade went(A)/on uninterrupted which was followed by(B)/ the President’s address and
other formal (C)/ festivities of the Republic Day. (D)

Correct Option - 1

A1.
B2.
C3.
D4.
No Error5.

Que. 2 Read the following sentence and determine whether there is any error in it. The error, if any, will
be in one part of the sentence. If the sentence is error-free, then select ‘No Error’ as your answer.

“Lisa is more stronger than(A)/ her opponent”, said the coach(B)/ during the press briefing(C)/ ahead of the
Asian Games.(D)

Correct Option - 1

A1.
B2.
C3.
D4.
No Error5.

Que. 3 Directions: Read the sentence to find out whether there is any error in it. The error, if any, will be
in one part of the sentence. The number of that part is the answer. If there is no error, the answer

is (5). Ignore errors of punctuation, if any.
I lost the bag in which I had my all documents, certificates, and academic records. /(A) I have a job interview
tomorrow where I need all these things, /(B) and I have no clue what will happen. I lodged /(C) a police
complaint, but within this short time, nothing is possible. /(D)

Correct Option - 1

A1.
B2.
C3.
D4.
No error5.

Que. 4 Directions: Read the sentence to find out whether there is any error in it. The error, if any, will be
in one part of the sentence. The number of that part is the answer. If there is no error, the answer



is (5). Ignore errors of punctuation, if any.
The fabric is as softer as cotton, but it is /(A) not pure cotton. That's why she got so many /(B) allergic reactions
on her face after using that mask /(C) and is now under proper medication and care. /(D)

Correct Option - 1

A1.
B2.
C3.
D4.
No error5.

Que. 5 Read the sentence below to find out if there is any error in it. The error, if any, will be in one part 
of the sentence. The letter of that part is the answer. If there is no error the answer is (5). (Ignore 

errors in punctuation if any).
After the (A)/ rise, the (B)/ cases started (C)/ dropping sudden. (D)./ No Error (E)

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 6 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any.
Kiva has loaned out (A) nearly a quarter of (B) a billion dollars to (C) small and medium businesses for 2005.
(D)

Correct Option - 4

(A)1.
(B)2.
(C)3.
(D)4.
No error5.

Que. 7 A passage is given below with five blanks labelled (A)-(E). Below the passage,
five options are given for each blank. Choose the word that fits each blank most

appropriately in the context of the passage, and mark the corresponding answer.
The end of World War II was not just the end of a war, but also the __(A)__ of a tense and dynamic period that
affected society on all levels. This “postwar” period, as it became known, shaped the world as we know it today;
likewise, the period was shaped itself both by the war that had __(B)__ it, and the powerful forces that
surrounded it. As the energy of fundamentally different ideologies—Communism and Democracy—collided with



advances in science such as the nuclear bomb, a dangerous environment ensued that created an atmosphere of
__(C)__ throughout the world and especially, within America. 
This atmosphere is known broadly as the “Cold War.” While the Cold War played out step-by-step between the
United States and the Soviet Union, it was __(D)__ playing out in the everyday lives of the masses within their
borders. Paranoia, nevertheless, was not an effect that followed immediately after the close of the War. In fact,
the United States had enjoyed an extended period of economic __(E)__ during the war, and following the war,
the U.S. economy continued with great strength for more than a decade. 

Which of the following words most appropriately fits the blank labelled (A)?

Correct Option - 3

Significant1.
Advantage2.
Beginning3.
Successfully4.
Staff5.

Que. 8 Which of the following words most appropriately fits the blank labelled (B)?

Correct Option - 1

Preceded1.
Damper2.
Subsequent3.
Arming4.
Static5.

Que. 9 Which of the following words most appropriately fits the blank labelled (C)?

Correct Option - 4

Public1.
Radical2.
Politically3.
Paranoia4.
Symbolic5.

Que. 10 Which of the following words most appropriately fits the blank labelled (D)?

Correct Option - 3

Warheads1.
Separated2.
Simultaneously3.
Hiding4.
Seek5.



Que. 11 Which of the following words most appropriately fits the blank labelled (E)?

Correct Option - 1

Expansion1.
Retrospect2.
Behind3.
Repressive4.
Subject5.

Que. 12 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (5) i.e. No error as the answer.
The analysis must be deeper if we are to gain any further conclutions. 

Correct Option - 4

analysis 1.
deeper2.
gain 3.
conclutions4.
no error5.

Que. 13 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (5) i.e. No error as the answer.
The players need to practise in order to improve their techneeque.

Correct Option - 4

players 1.
practise 2.
improve 3.
techneeque4.
no error5.

Que. 14 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (5) i.e. No error as the answer.
I admired the creativity which previaled among the young writers.

admired 1.
creativity 2.
previaled 3.
writers4.



Correct Option - 3

no error5.

Que. 15 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (5) i.e. No error as the answer.
It was intented to encourage her, but it was more a distraction. 

Correct Option - 1

intented 1.
encourage 2.
more 3.
distraction4.
no error5.

Que. 16 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (5) i.e. No error as the answer.
They defennded their country against the invaders.

Correct Option - 1

defennded 1.
country 2.
against 3.
invaders4.
no error5.

Que. 17 Read the passage given below and answer the questions that follow. 
It is well accorded that COVID-19 extracts a huge toll on the mental health of patients and leaves

behind a slew of neurological sequelae in its wake. However, what is alarming is the wide gamut of mental and
neurological disorders seen even in those with milder symptoms. Such patients frequently reported being
anxious, depressed and having difficulty in sleeping. A higher incidence of frank psychosis manifesting as
disorganization of thought processes and personality disorders was also reported. Many survivors of COVID-19
had to battle substance abuse in its immediate aftermath. There was a steep increase in the amount of alcohol
consumed by regular drinkers. Persons who had stopped smoking and consuming alcohol resumed their habit in
disconcerting numbers. 
The occurrence of neurodegenerative disorders like Parkinsonism is concerning as this would bring long-term
disability in the form of impaired mobility and memory decline. It has been hypothesized that the causative
mechanism for many of the neurological conditions due to COVID-19 may be the direct invasion of the nervous
system by the virus, an increased tendency to blood clotting or an exaggerated immune response by the body.
Various other factors like pre-existing psychiatric illness, prolonged quarantine, perceived lack of organizational
support, and social stigma are risk factors. Anxiety, Nervousness, and Post-traumatic stress disorder are
often fuelled by fear of infecting other family members, physical distancing, loneliness, and ________ at
home in cramped quarters. 



The pandemic has radically transformed the way businesses function and services delivered. Remote working
disrupts a healthy-work life balance. Face to face contact and human interactions which were considered so
essential for emotional well-being has taken a backseat. Lack of comforting physical contact like shaking hands
and hugging friends is stressful and disconcerting. Online classes and home-schooling have placed a gargantuan
burden both on students and parents. Lack of access to reliable computer hardware and spotty internet
connections, particularly in rural areas and in the economically backward have created a new class divide.
Children have been deprived of co-curricular activities, participation in group events and sports which is
essential for their holistic development. Mental stress and fatigue have increased manyfold due to the rigours
imposed by virtual learning.

Choose the most appropriate option to fill in the blank for the sentence given below. 
Anxiety, Nervousness, and Post-traumatic stress disorder are often fuelled by fear of infecting other family
members, physical distancing, loneliness, and ________ at home in cramped quarters. 

Correct Option - 4

Freedom 1.
Luxury 2.
Independence3.
Confinement4.
Consent5.

Que. 18 What is the hypothesis behind the many neurological conditions arising due to COVID-19?

Correct Option - 4

A direct invasion of the nervous system by the virus. 1.
An increased tendency to blood clotting. 2.
An exaggerated immune response by the body. 3.
All of the above 4.
None of the above. 5.

Que. 19 Choose the statement that is false according to the passage. 

Correct Option - 2

COVID patients frequently reported difficulty in sleeping1.
Smoking and consumption of alcohol decreased due to prolonged quarantine. 2.
Disorders like Parkinsonism occurring during COVID is a cause of concern. 3.
Prolonged quarantine is a risk factor that can be associated with COVID related neurological conditions. 4.
None of the above.5.

Que. 20 How did the pandemic transform the way businesses are run? 

Remote working has disrupted the work-life balance. 1.
There is a constant need to be readily available for work. 2.
Face to face contact and human interactions have taken a back seat. 3.
Both 1 and 34.



Correct Option - 4

None of the above.5.

Que. 21 Choose the statement that is true according to the passage.

Correct Option - 4

People are able to enjoy the work life balance due to work from home. 1.
Spending time inside has given people an opportunity for self reflection. 2.
Less exposure to the pollution of the outside world is a blessing for many. 3.
The imposed virtual learning has increased the mental stress and fatigue in students. 4.
None. 5.

Que. 22 What is the synonym of the word function given in the passage? 

Correct Option - 4

Conjugate1.
Break 2.
Impede3.
Operate4.
Conclude5.

Que. 23 What is the synonym of the word gargantuan mentioned in the passage?

Correct Option - 4

Puny 1.
Miniscule 2.
Tepid3.
Enormous 4.
Opulent5.

Que. 24 According to the passage, what is alarming considering COVID-19's toll on mental health? 

Correct Option - 4

The rise of the black fungus wrecking havoc on patients with mild immunity. 1.
The steep increase in the amount of alcohol consumption by regular drinkers. 2.
The rise of virtual learning and work from home. 3.
The wide range of mental and neurological disorders in patients with milder symptoms. 4.
None of the above.5.

Que. 25 What is the synonym of the word accord ?

Transpose1.



Correct Option - 4

Expel2.
Reject 3.
Agreement4.
Admit5.

Que. 26 Rearrange the following five segments (A), (B), (C), (D) and (E) in the proper sequence to form a
meaningful paragraph; then answer the questions given below them.

A. NPCIL is a dividend-paying company with the highest credit rating of AAA by CRISIL and CARE
B. At present, NPCIL operates 22 nuclear power reactors with an installed capacity of 6780 MW.
C. NPCIL is responsible for siting, design, construction, commissioning and operation of nuclear power reactors. 
D. Nuclear Power Corporation of India Limited (NPCIL), formed in 1987, is a Public Sector Enterprise under the
administrative control of Department of Atomic Energy (DAE). 
E. Safety is given overriding priority in all facets of nuclear power reactors.

Which is the first sentence according to the paragraph?

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 27 Which is the second sentence according to the passage?

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 28 Which is the third sentence according to the paragraph? 

Correct Option - 3

A1.
B2.
C3.
D4.
E5.



Que. 29 Which is the fourth sentence according to the paragraph? 

Correct Option - 5

A1.
B2.
C3.
D4.
E5.

Que. 30 Which is the fifth sentence according to the paragraph? 

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 31 What will come in the place of the question mark ‘?’ in the following question?

? = 40% of 320 + 43 ÷ 16 × 108 ÷ 8

Correct Option - 5

1761.
1722.
1683.
1664.
1825.

Que. 32 What will come in the place of the question mark ‘?’ in the following question?

35% of 180 + 182 = (27)5/3 + ?2

Correct Option - 3

181.
152.
123.
134.
145.

Que. 33 What will come in the place of the question mark ‘?’ in the following question?

38 + 41 × (441 ÷ 21) – 172 = ?



Correct Option - 3

6051.
2092.
6103.
5084.
None of these5.

Que. 34 What will come in the place of the question mark ‘?’ in the following question?

(25  – 106) ÷ 3 – 132 + 35 = ?

Correct Option - 1

2

391.
412.
433.
354.
None of these5.

Que. 35 What will come in the place of the question mark ‘?’ in the following question?

215 + 369 – 60% of 900 + 5 = ?2

Correct Option - 2

81.
72.
63.
94.
None of these5.

Que. 36 What will come in the place of the question mark ‘?’ in the following question?
40% of 820 + 60% of 390 – 511 = 49 + ?

Correct Option - 4

81.
12.
33.
24.
None of these5.

Que. 37 What approximate value should come in place of the question mark (?) in the following question?
39.87 + 56.83 – 19.11 × 3.99 + 7.84 = ?

251.



Correct Option - 5

322.
273.
264.
295.

Que. 38 What will come in the place of the question mark ‘?’ in the following question?

17 × 18 ÷ √324 × 11 + 48 – 10 = ?2

Correct Option - 3

121.
142.
153.
134.
185.

Que. 39 What will come in the place of the question mark ‘?’ in the following question?
? × 22 = 2740 ÷ 20 - [(100/9)% of 729 – 10]

Correct Option - 3

21.
52.
33.
44.
None of these5.

Que. 40 What will come in the place of the question mark ‘?’ in the following question?

?2/3 = 64% of 150 + 7 × 3 – 92

Correct Option - 4

12961.
362.
63.
2164.
None of these5.

Que. 41 Direction: Study the data carefully and answer the following questions.
Following is the data given of selling 2 types of pizza from 4 shops A, B, C and D.



Find the difference between total number of small sized pizzas sold from shop A, B and D together and total
number of pizza sold from Shop C.

Correct Option - 3

341.
422.
463.
524.
None of these5.

Que. 42 Total number of pizzas sold from shop D is what % of total number of pizzas sold from shop A?

Correct Option - 1

77.5%1.
82.5%2.
90.75%3.
62.5%4.
None of these5.

Que. 43 Find the ratio between total number of pizzas sold from shop C to that of shop B.

Correct Option - 2

13 : 121.
11 : 122.
12 : 133.
22 :234.
None of these5.

Que. 44 What is the average of total number of medium sized pizzas sold from all the shops together?



Correct Option - 4

401.
442.
523.
384.
None of these5.

Que. 45 If the number of large sized pizzas sold from shop C is 20% of the number of small sized pizzas sold,
then find the total number of pizzas sold from shop C.

Correct Option - 3

901.
1022.
963.
1044.
None of these5.

Que. 46 In each of the following number series, a wrong number is given. Find out that number.
12, 14, 18, 23, 32, 42, 54

Correct Option - 3

121.
322.
233.
184.
545.

Que. 47 In each of the following number series, a wrong number is given. Find out that number.
38, 39, 43, 52, 70, 93, 129

Correct Option - 1

701.
522.
933.
1294.
395.

Que. 48 In each of the following number series, a wrong number is given. Find out that number.
18, 35, 69, 136, 273, 545

691.



Correct Option - 4

352.
183.
1364.
2735.

Que. 49 In each of the following number series, a wrong number is given. Find out that number.
48, 41, 34, 27, 21, 13, 6

Correct Option - 2

131.
212.
413.
64.
275.

Que. 50 In each of the following number series, a wrong number is given. Find out that number.
87, 88, 84, 110, 95, 220

Correct Option - 3

951.
2202.
1103.
874.
885.

Que. 51 Water is flowing at the rate of 5 km/h through a pipe of diameter 14 cm into a rectangular tank which is
50 m long, 44 m wide. The time taken for the rise in the level of water in the tank to be 7 cm is (in

hours)

Correct Option - 1

21.
32.
2.53.
1.54.
none of these5.

Que. 52 Two men A and B started a job in which A was thrice as good as B and therefore took 60 days less than
B to finish the job. How many days will they take to finish the job, if they start working together?

15 days1.
20 days2.



Correct Option - 3

22.5 days3.
25 days4.
none of these5.

Que. 53 Pipe A alone can fill a tank in 8 hours. Pipe B alone can fill it in 6 hours. If both the pipes are opened
and after 2 hours pipe A is closed, then the other pipe will fill the remaining tank in 

Correct Option - 4

6 hrs1.
3.5 hrs2.
4 hrs3.
2.5 hrs4.
none of these5.

Que. 54 The ratio between two numbers is 2 : 3. If each number is increased by 4, the ratio between them
becomes 5 : 7. The difference between the numbers is

Correct Option - 4

2 1.
42.
63.
84.
none of these5.

Que. 55 Aditya got some amount of money from his father, In how many years will the ratio of the money and
the interest obtained from it be 10 : 3 at 6% p.a.? 

Correct Option - 3

7 years1.
3 years2.
5 years3.
4 years4.
none of these5.

Que. 56 Direction: Read the following information carefully and answer the following questions.

Statement I- There are 220 students studying in college A and college B. Students from 3 cities i.e Patna, Delhi
and Mumbai study in these 2 colleges.

Statement II- Ratio of total number of students in college A and total number of students in college B is 6 : 5.
Number of students of Mumbai who studies in college B is 30% of total number of students of college B.

Statement III- Number of students of Mumbai who studies in college B is 75% of number of students of Patna
who studies in college A.



Statement IV- Number of students from Delhi who studies in college B is 62.5% of the number of students from
Patna who studies in college A. Ratio of students from Patna in college B and number of students from Mumbai
who studies in college A is 9 : 10.

Find the ratio of number of students from Delhi in college A to that of college B.

Correct Option - 3

4 : 51.
3 : 42.
6 : 53.
5 : 34.
None of these5.

Que. 57 Number of students from Patna in college A is what % of total number of students in college B?

Correct Option - 1

40%1.
45%2.
35%3.
60%4.
None of these5.

Que. 58 Find the difference between total number of students from Patna to that of Delhi.

Correct Option - 2

351.
302.
453.
504.
None of these5.

Que. 59 Which city has the most number of students studying in both colleges?

Correct Option - 1

Patna1.
Delhi2.
Mumbai3.
Both Patna and Mumbai4.
Both Delhi and Mumbai5.

Que. 60 Find the total number of students studying in college A from Delhi and Mumbai.

851.



Correct Option - 4

752.
903.
804.
None of these5.

Que. 61 A, B and C are partners. A receives 9/10 of the profit and B and C share the remaining profit equally.
A's income is increased by Rs. 270 when the profit % of A rises from 12 to 15%. Find the capital

invested by B and C each respectively.

Correct Option - 2

Rs. 500, Rs. 6001.
Rs. 500, Rs. 5002.
Rs. 600, Rs. 5003.
Rs. 600, Rs. 6004.
none of these5.

Que. 62 In an examination, a student must get 36% marks to pass. A student who gets 190 marks failed by 35
marks. The total marks in that examination is

Correct Option - 1

6251.
5002.
4503.
6504.
None of these5.

Que. 63 The population of a town is 15000. If the number of males increases by 8% and that of females by
10%, then the population would increase to 16300. Find the number of females in the town. 

Correct Option - 4

40001.
30002.
60003.
50004.
None of these5.

Que. 64 The average weight of 12 players in a team is increased by 1/3 kg, when one of the player whose
weight is 55 kg is replaced by an another player. What is the weight of the new player?

57 kg1.
59 kg2.
62 kg3.



Correct Option - 2

65 kg4.
None of these5.

Que. 65 While selling an article, a shopkeeper gives a discount of 5%. If he gives a discount of 6% , he earns
Rs. 15 less as profit. What is the marked price of the article

Correct Option - 2

Rs. 12001.
Rs. 15002.
Rs. 18003.
Rs. 20004.
None of these5.

Que. 66 Direction: Read the given information carefully and answer the questions asked below.
Eight people P, Q, R, S, T, U, V and W are sitting around a square table in such a way that four of

them sit at four corners of the square while four sit in the middle of each of the four sides. People who are sitting
at the corner are facing outside the center while people sitting in the middle are facing the center. R sits second to
the right of V. Only one person sits between R and W. P is not an immediate neighbor of W and does not sit at
corner. Q faces S who sits immediately to the left of U.

What is the position of U with respect to T?

Correct Option - 1

Third to the left1.
Third to the right2.
Immediate to the left3.
Immediate to the right4.
Fourth to the right5.

Que. 67 How many people sit between R and S, when counted in a clockwise direction from S?

Correct Option - 5

None1.
One2.
Two3.
Three4.
More than three5.

Que. 68 What is true regarding P?

P sits immediate right of U.1.
P Second to the right of Q2.



Correct Option - 4

P is an immediate neighbor of R3.
Both 1) and 2)4.
Both 1) and 3) 5.

Que. 69 Who sits second to the left of the person who sits immediate right of S?

Correct Option - 2

U1.
R2.
V3.
T4.
W5.

Que. 70 Four among the five are the same in some way and thus form a group, which of the following does not
belong to that group?

Correct Option - 5

R1.
U2.
V3.
W4.
Q5.

Que. 71 Direction: Study the following information and answer the questions given below.
In a certain code language,

“focus on economic development” is written as “vl no py su”
“greater growth more development” is written as “wr ea vl om”
“more focus is important” is written as “su ta nx ea”
“economic growth is important” is written as “ta py om nx”

What is the code for 'economic'

Correct Option - 2

no1.
py2.
nx3.
ta4.
su5.

Que. 72 'su' is the code for which of the following?



Correct Option - 3

more1.
development2.
focus3.
on4.
important5.

Que. 73 What is the code for "growth is important"?

Correct Option - 2

om ta py1.
om ta nx2.
wr ta nx3.
ea nx py4.
Cannot be determined5.

Que. 74 What is the code for 'important'?

Correct Option - 5

ta1.
py2.
nx3.
om4.
Cannot be determined5.

Que. 75 What is the code for 'greater'?

Correct Option - 1

wr1.
ea2.
vl3.
om4.
no5.

Que. 76 If the digits are arranged in descending order within the given numbers which of the following number
will be the highest?

793, 689, 957, 495, 879

7931.
6892.
9573.
4954.



Correct Option - 5

8795.

Que. 77 Direction: Study the given information carefully and answer the questions.
Seven persons, A, B, C, D, E, F and G go to movies on different days of the week starting from

Monday to Sunday but not necessarily in the same order. One person goes between G and C, A goes on one of
the days before C. G goes on Friday. D goes on the second day of the week. Three persons go-between D and F.
B does not go on Monday or Thursday. The number of persons who goes after C is equal to the number of
persons goes before G. 

A goes for movie on which of the following days?

Correct Option - 1

Monday1.
Tuesday 2.
Wednesday3.
Thursday4.
Sunday5.

Que. 78 How many person/ persons go for movie after E?

Correct Option - 4

No One1.
One2.
Two3.
Three4.
Four5.

Que. 79 The number of persons go for movie before C is same as the number of persons who go for movie after
_____?

Correct Option - 4

B1.
E2.
F3.
G4.
D5.

Que. 80 Who among the following goes for movie on Saturday? 

A1.
F2.
E3.



Correct Option - 2

G4.
D5.

Que. 81 Who among the following goes for movie just before E? 

Correct Option - 3

F1.
D2.
C3.
A4.
G5.

Que. 82 What will be the difference between the sum of all the even digits and the sum of all the odd digits of
the given number ‘81247563’  

Correct Option - 4

11.
22.
33.
44.
55.

Que. 83 Direction: In the question below are given two statements followed by two conclusions numbered I
and II .You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements
Only a few animal are cat
Some animal are dog
Conclusions
I. All Cat are animal
II. Some cat are Dog

Correct Option - 5

Only II follow1.
Both I and II follow2.
Either I or II follow3.
Only I follow4.
Neither I nor II follow5.

Que. 84



Direction: In the question below are given two statements followed by two conclusions numbered I, and II. You
have to take the given statements to be true even if they seem to be at variance with commonly known facts.
Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.

Statement:

Only a few Sea are River

All River are Water bodies

Conclusion :

I. Some Sea are Water bodies

II. All sea are River

Correct Option - 4

Both I and II follows1.
Neither I and II follows2.
Either I or II follows3.
Only I follow4.
Only II follows5.

Que. 85 Direction: In the question below are given two statements followed by two conclusions numbered I
and II .You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements
No Door is Table 
Only a few Wood are Table
Conclusions
I. All Door are Wood
II. Some Door are not Wood

Correct Option - 4

Only II follow1.
Only I follow2.
Both I and II follows3.
Either I or II follow4.
Neither I nor II follows5.

Que. 86 Direction: In the question below are given Two statements followed by Two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
All Desk are Jungle.



All Jungle are Mountain.
Conclusions:
I. No Jungle is Mountain.
II. Some Mountain are Desk.

Correct Option - 3

Both I and II follow 1.
Only I follows2.
Only II follows3.
Either I or II follow4.
None of these 5.

Que. 87 How many such pairs of letters are there in the word ‘ENTHUSIASM’, each of which has as many
letters between them in the word (both forward and backward direction) as they have between them in

the English alphabetical series?

Correct Option - 3

One1.
Two2.
Three3.
Four4.
More than Four5.

Que. 88 Direction: Study the given information carefully and answer the following questions.
Eight people P, Q, R, S, T, U, V and W buy different items but not necessarily in the same order. Two

people buy items between P and S. One person buys between T and Q. T buys an item before Q. At least two
people buy after Q. Three people buy items between V and Q. V neither buy at first nor at last. The number of
persons buy items before T is same as the number of persons buy the item after W. Two people buy item between
W and P. R buys before U. 

Who among the following buys the item at first?

Correct Option - 4

W1.
P2.
Q3.
T4.
S5.

Que. 89 How many persons buy the item after U?

None1.
One2.
Two3.



Correct Option - 3

Three4.
More than Three5.

Que. 90 How many persons buy item between R and W? 

Correct Option - 4

No one1.
One2.
Two3.
Three4.
Four5.

Que. 91 The number of persons buy item before S is same as the number of persons buy item after ____?

Correct Option - 5

P1.
Q2.
S3.
W4.
V5.

Que. 92 Who among the following buy just before R?

Correct Option - 2

P1.
Q2.
S3.
V4.
W5.

Que. 93 Directions: These questions are based on the following information.
There are 8 members P, Q, V, R, T, B, Z, and S in a family. P is the Husband of V, who is the mother of

S. Q is a male, who has only one child. Q and S are siblings of the same gender. B is the brother of V. R is the
sister of Z, who is the mother of T. T is the daughter of Q.

How is T related to S?

Nephew1.
Niece2.
Brother3.
Sister4.



Correct Option - 2

Aunt5.

Que. 94 How B is related to P?

Correct Option - 3

Son - in - law1.
Sister in law2.
Brother in law3.
Daugther in law4.
None of these5.

Que. 95 How many male member are there in the family.

Correct Option - 5

51.
62.
Cannot be determined3.
34.
45.

Que. 96 Directions: Study the following information carefully to answer the given questions:
2 # C D 6 % F I M K H 8 © @ T U V 4 € 2 7 8 $ H O K W 5 Y 4 ¥ Y A P @

Which of the following is the sixth to the left of the twenty-fourth element from the left end of the above
arrangement?

Correct Option - 1

41.
V2.
@3.
H4.
None of these5.

Que. 97 If all the even numbers are dropped from the given series, then which of the following element will be
10th from the right end?

#1.
O2.
Y3.
74.
None of these5.



Correct Option - 2

Que. 98 How many such vowels are there in the above arrangement each of which is immediately followed by
a consonant but not immediately preceded by a number?

Correct Option - 4

One1.
Two2.
Three3.
More than three4.
None5.

Que. 99 Which of the following is the ninth to the right of the twenty third element from the right end of the
above arrangement?

Correct Option - 1

81.
@2.
©3.
44.
None of these5.

Que. 100 Four of the following five are alike in a certain way based on their positions in the above arrangement
and so form a group. Which is the one that does not belong to that group?

Correct Option - 5

C6F1.
H©T2.
7$O3.
V€74.
4YA5.
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